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A  

(1)  
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B 1 1 1F (F F )x y    2 2 2F ( F F )x y    3 3 3F (F F )x y  
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37° 53°  

(1)A =_______  
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(2) _______Kgw  

(1)40( 3 1)  (2)20(3 2 6)    
 
 
 
 

 
1000 2000

_______  

1365 
 
 
 
 

 

20  

(1) _______  

(2) _______  

(1)25  (2)15 

 
 
 
 

 

w 30°

45°  

(1) _______  

(2) _______  

(1)
( 3 1)

W
2

  (2)
2W

2
  

 
 
 

3  

2  

4 

5 



 

 4 

 
L W

w
2

1
_______  

L 2
(1 )

2 5
  

 
 
 

 
W N1

N2 N1 N2 W _______  
2

1 2N N w   
 
 
 

 

m ( ) m  P

O OC C =60° m N T  

(1)N=_______  

(2)T=_______  

(3)m=_______   

(1)
3

3
mg   (2)

3

3
mg  (3) 3   

 
 
 
 

 
W

 
(1) _______  
(2) _______  
(3) _______  

(1)
3

W
5

  (2)
4

W
5

  (3)
12

25
W   

 
 

8  

9 

7 

6 



 

 5 

 
ABC 50cm AB 100cm

ABC 3m 2m 2m  

(1) D _______  

(2) E _______   
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3
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1. 3.6r r
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4. A B A R B 3R

A W 3.2R  

(1)A _______  

(2)A B _______  

(3) _______  
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7. W A B A 37 B 53  

(1)A  
(A)0.24W  (B)0.4W  (C)0.48W  (D)0.6W  (E)0.8W    

(2)B  
(A)0.24W  (B)0.4W  (C)0.48W  (D)0.6W  (E)0.8W    

(3) C  
(A)0.24W  (B)0.4W  (C)0.48W  (D)0.6W  (E)0.8W    
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8. rn2 4kg rn3 8 kg  

(1)m1 _______kg  

(2)T1 _______N  

(3)T3 _______N   
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(1)B C _______  

(2)A B _______  
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W R  
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ABCD M AD 2a CD 2b B C m1

m2 (m1 m2) AD E BC  

(A) 2BK a btan   (B) 2BK a btan   (C) 1 2

1 2
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tan
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v 1.0m s F 4.0N 2
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1.  

(1) _______  

(2) O ________  

(3) P ________   

(4) Q ________  

 
 
 

2. W R h
1

R
5

 

(1) _________  

(2) __________  

(3) ________   

 
 
 

3. w  

(1) T _________  

(2) _________   

 
 
 

4. 5kgw 60kgw

2 1.2  

(1) ________kgw  

(2) ________kgw   

 
 
 

5. m

M

37°

g M  

(A)
1

2
m   (B)

1

3
m   (C)

2

3
m   (D)

4

3
m   (E)

3

4
m   
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6. L A B A B L

3 300kgw 450kgw  

(1)A _________  

(2)B ________  

 
 
 

7. ( ) W

F1

F2 F3 F1 F2 F3

( ) 

(A)F1   (B)F1   (C)F2    

(D)F2   (E)F3   

 
 
 

8. 

450 150 ( ) 1.2

300 450

( ) 

(A)0.3  (B)0.5  (C)0.6  (D)0.8  (E)1.0     

 
 
 

9. 10kgw

37°  

(1) __________kgw  

(2) _________kgw  

 

 

 

 

 

10. 60

4000 N m

37°

________ ( )  
 
 
 
 



 

 18 

11. ABCD 600gw A

 

(1) (T)  

(A)150  (B)200  (C)300  (D)400  (E)450    gw  

(2) (gw)  

(A)150  (B)200  (C)300  (D)400  (E)450    gw  

(3)  

(A)
1

3
  (B)

2

3
  (C)

1

2
  (D)

1

4
  (E)

3

4
  

 
 
 
 

12. AB A B W1

B A W2  

(A) 1 2

2

w w
  (B) 1 2w w   (C) 1 22( )w w   (D) 1 2w w   (E) 1 2

1 2

ww

w w
 

 
 
 
 

13. 3kg

1 5 1 10 kg  

(A)2  (B)4  (C)6  (D)8  (E)10    kg  

 
 
 

14. k 60gw cm

DO 24cm CD 8cm 300g  2.5 g cm3

0.5g cm3  

(A)3cm  (B)4cm  (C)6cm  (D)8cm  (E)9cm   
 
 
 
 

15. AB 2a m1 BC

2b m2  A AB

tan ________   
 
 
 
 
 


